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10.

SECTION A — (10 x 2 = 20 marks)

Answer any TEN questions. '
What are finance function?

BEluuenilsar eremuen wireneu?

What is the mé"anixig of financial planning?
BESEH L 1HGed erenmmed crevmenr?

What is meant by tra_éing on equity?

gngmyent Lirkdler G?JWQBﬂULb Qeuize erenmimed Greirrql;ur?
What is meant by the term léverage?
DpDDOTSTUILD GTRTDITE) GTETEN?

What do you mean by cost of capital?

APOSERT L&D CTEITMTE) GTCITEN?

Explain the MM abproach in the capital structure.

M.M @igmi@ wanpufen gpageans Cam-Lm i emer adeuf.

How cost of capital can be classified?

posar Si_Ss5ms Taleum auamslILESSILOEDS?

What is optimal capital structure?

2 G0 LPEOSET iUy GTEOTMITED GTEITEHT?
What is stable dividend?

Hleneowime LBISTSTWILD GTEmDTEd GTeHmen?

What are the source available for dividend?

LIBISTSTWID GUPEIGEUSDSTET DLEMIERISET WITena? !
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11.

12.

13.

14.

15.

List'out-the factors determining working capital.
paL e apagsaisas Hiauidsen smeaiflsamer auflosiiu®sss.
What are the various types of wb’rking capital?
B e (pasagHer LDGCain cuamEser Wrepau?

SECTION B — (5.x 5 = 25 marks)

i Answer any FIVE questions.

Define the term financial management. What are its objectives?
HEGlued Gma)rr@'ﬁspm Grsmug,asr Qs 5ms. D Cprashsmar
@@uéﬂ@&
A company has earnings before interest andr taxes of
Rs. 1,00,000. It expects a return on 1rive'stment at the rate of

12.5%. You are reqmred to find out the total value of the firm
accordmg to M.M. Theory.

TI) @gjm‘e_'r,ﬁa'ﬂ QU(BLOTEILD, QUL i LD;_i)gJLB auflég eurs @. 1,00,000
G0 g5 WsShsafar Sg 12.5% eumuraigems adiuniadng.
M.M. Gam_um_igei Ly fipjeuanslen Qorss wHliomus snars.

The following information is available in respect of a firm.
Capita];'sation rate 10%

Earnings per share Rs. 50

Assumed rate of return on investment 12%. Find out the market

price of the share applymg Walters formula When dividend

payment ratlo is 20%?

T @gummgﬁsﬁ\@pg] &lc.pase;rr@]u) §a;aja)a;m eﬂml_a;és'larg_r)m

' @ga)rra;a; eflflgd 10%

@@ uRifparar auored . SO

5SHs6r 185 carddsini’ L eugporar eipn 12%

el LT @sdrsamsls Lwauhsd UkisTSmL QauafiiLn® el flzb
20% @Mm&EL QU ukiGseller shag elamaamus STaNs.
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24.

@Cwsr AniwsdHed pogar <L ssn 10% Geneppw shHeng AL
. 20,00,000 (¢m. 20 eremp iavdlad) HEw pseSE Caemeu, aumiomarid
mrpgum UBIETETWD WeapGw m. 6,80,000, - 1,50,000 wpmid em. 1
@@ utidneE MM ordficug urma;rrg,nu_mﬂuu Bloiw iy LJIT‘QSS&SIT@
ereLieng i5lemql.

A firm has sales of Rs. 10,00,000 variable cost of Rs. 7,00,000
and fixed costs of Rs. 2, OO 000 and debt of Rs. 5, 00,000 at 10%
rate of interest. What are the operating, financial and combined
leverages? If the firm wants to double up its earnings before
interest and tax (EBIT) how much of rise in sales would be
needed on a percentage basis. )

o® MAnoergder efpuemer . 10,00,000, LIYUREL  Qeeey
@p. 7 OO 000; ‘rﬂmmg,g, Geweyser a5. 2,00,000 10% ally Nflgsde
sLer  5.500,000. Qawe . B8 wpgd  emrdmenhs
2LDDEOTSITILIBISHEN G e, ey whmitd euflée WPH®SI Qu(HEUTEDILI
Brlgliurss Ryeuend 69 mibienmed #5618 pigLiLienulé ereuauaray

- dpuemaremw ifsNEs Caisim@Lb.
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16.

17.

18.

A company expects a net income of Rs. 80,000. It has
Rs. 2,00,000 debentures at 8%. The equity capitalisation rate of

_ the company is 10%. Calculate the value of the firm and over all

capitalisation rate according to the net i Income approach. (Ignore

- Income Tax).

R0 Hgwbd Har eumwraors 5. 80,000 Gr@r'rurrfré.eﬂgpg,]. OB EnIosH
8% sLan LgHrHisemar @. 2,00,000 &g o dreng. Cpirentots Lk,
Wsorés s 10% < @tb.

Bl&r  eummLomer WS WdDLivy  SpHpLsSer ngf,]l_'lmuu.ub,

Sioamss psorss adssmsud saEdEs. (aumorer euflew

HB5S0 Qamerar Gauari_mib).

A company issues 10000 10% preference shares of Rs.100 each at
a discount of 5%. The cost of issue is Rs. 2 per share. Calculate
the cost of preference capital.

@ Bl 10000 10% pereyfeanio URIGSET euQeumenmib @ 100
RAEDG 5% Fem@enLigufed Qmaﬂu&l@&]mg GQeuefludBib G]era)sq LmkIG
RENES 5. 2. angiflento ki, ng,eﬁ'i_@ SILEEENSE SHTERTs.
Equity share capital Rs. 1,00,000

10% preference share capital Rs. 1,00,000

8% Debentures Rs. 1,25,000

The present EBIT in Rs. 50,000. Calculate the financial leverage
assuming that the company is in 50% tax bracket.

&0 2 fAeniols kG ser t5-1,00,000

10% @errgyflaniols Likg; gpaegend r.1,00,000

8% aLam LgHrmiser 5. 1,25,000

soGumengw EBIT ¢5. 50,000 <AGL. Fpwd 50% euf aﬁl'éluq-

uemetgHle)r o erarg erew slguoraliss A ypporsusmss
STEE ).
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19.

20.

21.

There are two firms X and Y which are exactly identical except
that X does not use any debt.in the financing while Y has
Rs.1,00,000 5% debentures. Both the firms have earnings before
interest and taxes of Rs. 25,000. Equity capitalisation rate is
10% corperate tax rate 50%. Calculate the value of the firm.

Gy wrdfiwrer X wpmbd Y erayd Gran® Blpieuambiser o erere. X
HneueaisHe L6 (pHe eTgiaLd LwetuRissiiuefldame. Y Hlmeuetd
5. 1,00,000 &@ 5% sLen ugdlyhisamen Qeuaflud @Rerergl. @ e
Apeuamsaiigid eufl wHYL ety Ceasgid ey . 25,000
Qe FLOHHDG. Copimol LGRIE (pSe S 10% S eufl

- g 50% Himeuaisefien Sl Srems.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.
Explain the major determinants of dividend policy of a firm.
LksTETLE Qaramamu BiamnidsE s sTreawisemer eflend@s.
Mr. Krishnan wishes to commence a new trading business and
gives the following information.
(a) The total estimated sales in a year will be Rs. 12,00,000

(b) His expenses are estimated as fixed expenses Rs.2,000 p.m.
Plus variable expenses equal to 5% of his turnover

() He expects to fix a sales price for each product which will
be 25% in excess of his cost of purchase

(d) He expects to turnover his stock four times in a year

_ (¢) The sales and purchases will be evenly spread throughout

the year. All sales will be for cash but he expects one
month's credit for purchases.

Calculate
(i) His estimated profit for the year
(i) His average working capital requirement.
Hm. Smegamer @ USu Czrfd geums oy SHprT. gl
Gg,rrl_r'ru re efuyriisear SCLp srliul_(Héreren.
(1) ey adiurtssiu@b Quwrss elipLeamer . 12,00,000
(<) SieimeL L Qswaisar Haawss Qswaisar s . 2,000 wpmid
rpu@b QFaa|se elpueamarnuied 5%

4 72206/MAM3E/BPF5D/
BPZ5D/BPC5A/BPG5D

22.

23.

(®) Qamerpse ofemaufen 85 25% iflsons,  geubleunm
QuirsErEELD elpLman allena Hifarmub Asiiw eflen .

() @I peRTIq.) BTENE (PavD SAeui &78E Lflrdod e era
arlrumi&Spmi.

(2) Qamepse LOHMD eNhuemer wETH PLUGID ETTE QBSED
eranpd  areer  efpuemeanyd Qprés  efhuemeanurse,

Qasrearaps@s@ wLHD @@ - LTS G]a;rrerr@g,a) FL@EE1E
BHESD erataylbd erAfuTTGADTT.

SaTSE (D G.
Q) sips aThssTen eriumissiuBin @eomLid
(i) agrefl peLaparn epagars Coma.
The followmg estimate relate to the company's most desirable

capital mix of debentures and equity (after-tax) calculate
optimal capital structure mix.

Debt as % on capital Employed Cost of debt % Cost of equity %

0 me 5.00 12.00
10 5.00 12.00
20 5.00 12.50
30 , 5.50 . 13.00
40 6.00 14.00

Spaumbd safluysaldlmbg, Hnwsden 2550 PO Sma
oLt Samals samsHHs. sima sl USHID LOHOID FL
UFEJ@BSGTITGS (aufté@ Wey) QarHEsiuL(Herere.

HLa QUTES APLSET ST JILEGSHD % FI0 LIkIG ALESD %
QusssHD iera) (%)

0 5.00 12.00
10 5.00 12.00
20 5.00 J 12.50
30 5.50 13.00
40 6.00 14.00

Omega Ltd has cost of capital at 10% currently it has market
value of Rs. 20,00,000 (Rs. 20 per share). New investment
required, earnings and dividend of that given respectively.
Rs. 6,80,000, Rs. 1,50,000 and Re. 1 per share.

According M.M. model prove the dividend payment will not
affect the value of the firm.
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